
����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ������ ��������� �������� �� �����������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ��� ������� �������� ������� ���� ��� ��������



����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ������� ��� ���������� ���� �� RP n ���� Z/2 �����������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ����� ���� ��� ��������� ������ H̄∗(X ∨ Y ; R) ∼= H̄∗(X; R)⊕ H̄∗(X; R) ��
������ ������





����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ������� ��� ���������� ����� �� CP 2 × S6 ��� CP 2 ∨ S6�



����� ��������� ��������� �������� ��� ���� ��� ��� ����

�������� �� ���� ���� ��� CP 2 ∨ S6 �� ��� �������� ���������� �� CP 3�




